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1. Why did Mahmud of Ghazni attack temple towns ? (1)
2. Iltutmish decided to nominate his daughter Raziya to the throne. Why? (1)
3. Mention any one feature of Havelis. (1)
4. Define Apartheid system. (1)
5. What is a constituency? (1)
6. Define ‘Ballot Paper’. (1)
7. Explain Biosphere. (1)
8. In the process of Metamorphism what does lime stone change into? (1)
9. What is Normal Lapse Rate? (1)
10. List the importance of Archaeological sources. (3)
11. Describe foreign accounts. Give example (3)

12. How did Mansabdari System help Akbar to organise his nobility and give them
military responsibility? (3)
13. a) Identify the picture.

b) What measures adopted by

him angered the non- muslims ? (1+2=3)
14. Explain the process of decision making in India. (3)
15. List the steps taken by the government to improve the status of scheduled

caste and scheduled tribe . (3)

16. What do you mean by rule of law. Highlight the provisions in Indian constitution

for Right to Equality. (3)
17. Mention the powers of the Chief Minister? (3)
18. List the Main characteristics of Minerals? (3)
19. Differentiate between Crust and Mantle. (3)

20. Explain different ways of Conserving Water. (3)
(1)
(2)

21. a) Identify the disaster.

b)Explain the means of Relief




22. (a) Ala-ud-din ‘s market control was regarded as the great wonder of the world.

Explain.
(b) Explain Ala- ud — din Khalji’s military administration.

23. Identify the picture and write about it.

24. (a) Distinguish between Uniparty, Biparty and Multiparty system.
(b) Explain coalition government.
25. (a) Describe the role of a Governor.
(b) What are the functions of state legislature?
26 (a) Explain the Tripartite struggle.
(b) Write a short note on Chola administration.
27.(a) Differentiate between direct democracy and indirect democracy.
(b) Explain any three types of government.
28.(a)Difference between Degradation and Aggradation.
(b) Describe any three Work of a river.
29. a) Write two Characteristics of Lithosphere.
(b) Mention any three importance of ocean water.
30. Draw and label the Layers of the Atmosphere and Write any two

features of the lower layer of Atmosphere.
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(SECTION - A) (1 x4=4)
1. Write down a pair of integers whose sum is (-7).

2. Express the following as equation:
2 less than half of a number is 6.

3. Find the value of y in the adjoining figure

2 3 3 2
4. Which is greater : = of 5 Or5 0 f ~ (work out)

(SECTION - B) (2 x 6= 12)
5. Simplify : 43.7 — 18.23 + 96.36 — 27.62

6 Identify the terms and factors of xy + 2x2y — 7y
7. Solve the equation : 4(x —2) = 2x - 10.

5
8. Harry thinks of a number. If he takes away 7 from > of the number the

11
result is - Find the number.

9. Which of the following figures have rotational symmetry :

1Hyc @28 (B B

10.0Observe the given diagrams and write the number of lines of symmetry in

v >

(SECTION - C) (3 X 10=30)

3m+6

11. Solve the equation and check the result : =3m - 10

12. Draw a triangular prism .Write down the number of vertices, edges and
faces in it.

13. Raju ate % part of an ice —cream and he gave the remaining to his
sister . Who ate the smaller share? By how much ? What value do you

infer from this?

14. Add 7xy? and —13 xy? and find the value of the expression for

x=2,y=1 /
15. In the adjoining figure pllqandp | r /
and l is the transversal . /
Find the value of angles 1,6 and 9 V4

16. From the sum of (3x -y +11) and (—y — 11) ,subtract (3x -y - 11)

17. (i) Name a pair of adjacent angles from the
adjoining figure.



18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

(ii) Find the value of x if AOB is a line

Draw the front , top and side view
of the given diagram

(i) Draw the lines of symmetry?
How many lines of symmetry does it have ?
(ii) What is the order of rotational symmetry of the given figure.

Observe the given figure. \/

Two interior angles on the same side of the transversal measure
(a—-6)° and ( Sa — 6)° . Find the measure of the angles.

SECTION -D (11x 4=44)

3 1 1
A man travelled < km of his journey by plane, " km by bus, s km

by train and the remaining 8km by foot. What is the total distance
covered by him?

From the sum of (3x2 + 4x - 2) and ( —2x2 + 2x +1) subtract the sum of
(5 + 6x2 — 4x) and (15x — x2 +2) .

Kavitha purchased 8 shirts at Rs. 357.85 each. What is the total
amount paid in all ? What is the balance amount she has to get
from the shop keeper if she paid Rs. 5000 to him ?

1
The area of a rectangular plot is 5017 sq cm. If its breadth is 21 cm .
Find its length.

Evaluate :
(@ 11.5+0.3 (b) 51.428 x 1000
(c) Convert the following amount into paise and write in ascending
order : Rs. 16. 50p ; Rs. 4.80p ;250 p; Rs. 16.60p
Draw the following using a square graph paper:

(a) a cube with edge 3.5cm
(b) a cuboid with 7cm x 4cm x 6cm

Verify and name the property used
(a) (—35 x4) x (—152) = (-35) x [(4) x(—152)]
(b) (=7) x[(=15) + (=39)]
Simplify :
(i) 58+28-26 —6+5-1 (i) 63+9x8+§xo

Raghuraj has 30 marbles . In 5 games he won 3 marbles each and in 7
games he lost 2 marbles each. Find the marbles Raghuraj has at the end
of the games.

Find the values of x,y, z in the figure given below, If AB || CD, AE ||CF

/




31. In the adjoining figure find the measure of angles 1, 2 and 3
From the above name a pair
of supplementary angles.

kkkkkhkkhkkhkhxk

29. Raghuraj has 30 marbles . In 5 games he won 3 marbles each and in 7
games he lost 2 marbles each. Find the marbles Raghuraj has at the end
of the games.

30. Find the values of x, y, z in the figure given below, If AB || CD, AE ||CF

31. In the adjoining figure find the measure of angles 1, 2 and 3
From the above name a pair
of supplementary angles.
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SINDHI HIGH SCHOOL
SUMMATIVE ASSESSMENT -1 (2015-16)
SUBJECT:- ENGLISH
CLASS:- VII MARKS :- 90
DATE :- TIME : 2%2 hrs
No .of sides :-06

SECTION - A ( READING) (20 MARKS)
1. Read the passage carefully and answer the questions.

1. If there is any time of the day you want the kids out of the way, tell them to go
watch cartoons. It’s one of the oldest tricks in the books and it works. The children
are happy and you get some time to yourself. But doing this too often might cause
problems. It already has, going by the number of parents asking teachers: “What do
I do, my child watches cartoons on the television all the time?” An obvious answer
would be -- find something more interesting for the child to do. But can anything
else match a child’s interest in watching animated films?

2. According to a survey by the Cartoon Network, children prefer animation to any
other form of entertainment on television. This is because there is hardly a dull
moment between events. Even a high drama feature film is bound to have some
sequences where there isn’t much action—hence it becomes “boring” from a child’s
point of view.

3. The funny and jerky movements of the caterpillar squirming on the floor and then
turning into an alligator, or a dinosaur in ‘Flintstones’ singing a happy tune, makes
cartoons so action-packed that children get excited and do not have the time to
blink nor are they aware of what is going on around their surroundings.

4. Children till the age of about six don’t really follow the storyline, but still love this
capturing reality and exaggeration of the improbable. Understanding of the story
normally begins around the age of six and full comprehension comes around the age
of ten. This is the time when children begin enjoying the theme—the bully will be
beaten by the bullied.

S. There is a debate on the statement: cartoons are designed to grab the attention of
the child and are not necessarily what he likes. Animators believe that if the child
does not like what he sees, he will walk away. But those who study children feel that
when something is riveting, it might not necessarily be good for them. Hence
violence, even in comic form, might not be the right thing for the child to watch. The
fact remains that real life isn’t as interesting for a child and therefore, he turns to
watching something that is unrealistic and funny to boot.

6. A word of caution — feeding a child in front of TV can lead to obesity as he is so
engrossed that he doesn’t realise when he is full. Another negativity that comes with
too much cartoon watching besides eye strain is that it diminishes group activities
and time spent on playing outdoor games. But part of growing up is watching
cartoons. What’s more, grown-ups also watch them.

i) What gives children so much thrill that they get cut off from others? (1x3=3)

ii) ‘Parents are guilty when they ask teachers for a solution to stop their children
from watching cartoons’? Why are parents responsible to a certain extent?

iii) "'Small children do not comprehend the stories, but they still watch cartoons.’

Why?
iv) What is the outcome of the analysis done by Cartoon Network ? (1)
v) Give two reasons to prove that TV watching has harmful effects on children. (2)
vi) Find words in the passage having the same meaning for the given
phrases. (V2x 4=2)
(a) clear, easily seen or understood (paral) (b) series or structures (para2)
(c) doubtful (para4) (d) warning or alert (para6)

vii) The line, parents asking teachers: “What do I do, my child watches



cartoons on the television all the time?”—tells us about the: (1)
(a) pride of the parents to see their children viewing cartoons.
(b) happiness derived by the parents to see their children engrossed in watching
cartoons.
(c) frustration of the parents in seeing their children getting addicted to cartoons.
(d) anger of the parents to see their children not playing games.

viii) An appropriate title for the passage would be: (1)
(a) Cartoons (b) Cartoon Crazy (c)Woes of parents (d) Network

2. Read the poem carefully and answer the questions by choosing the right

option: (1x5=5)
LIFE IS A GAME
Life is a game with a glorious prize, Get into the thick of it- wade in, boys!
If we can only play it right. Whatever your cherished goal;
It is give and take, build and break, Brace up your will till your pulses thrill,
And often it ends in fight; And you dare to you very soul!
But he surely wins who honestly tries, Do something more than make a noise;
(Regardless of wealth or fame) Let your purpose leap into flame,
He can never despair who plays it fair = As you plunge with a cry, “I shall do or die,”
How are you playing the game? Then you will be playing the game.
i. Who, according to the poet will be a winner in this poem?
(a) One who plays with courage. (b) One who plays a fair game.
(c) One who has flame in his heart . (d) One who has wealth.
ii. ‘Perseverance’is the synonym of the word ____ from the poem
(a) despair (b) cherished (c) flame (d) purpose

iii. If give ; take, build; break, then fair ; .
(a) bad (b) biased (c) dark (d) carnival

iv. The poet speaks of as important aspects when playing the game.
(a) glorious prize (b) wealth and fame
(c) goals and prizes (d) courage and honesty

v. ‘Game’ in this poem refers to
(a) life (b) sports (c) wealth (d) goals

3. Read the following passage and answer the questions that follow. Refer to
the text to check your answers when appropriate. (1 x5=25)

1. Chess is called the game of kings. It has been around for a long time. People have
been playing it for over five centuries. Chess is based on an even older game from
India. The chess we play today is from Europe.

2. Chess is a two-player game. One player uses the white pieces. The other uses the
black pieces. Each piece moves in a special way. One piece is called the king. Each
player has one. The players take turns moving their pieces. If a player lands on a
piece, he or she takes it. The game ends when a player loses his or her king. There
are a few more rules, but those are the basics.

3. Some people think that chess is more than a game. They think that it makes the
mind stronger. Good chess players use their brains. They take their time. They think
about what will happen next. These skills are useful in life and in chess. Chess is
kind of like a work out for the mind.

4. You don't always have lots of time to think when playing chess. There is a type
of chess with short time limits. It's called blitz chess. In blitz chess, each player gets
ten minutes to use for the whole game. Your clock runs during your turn. You hit
the time clock after your move. This stops your clock. It also starts the other player's



clock. If you run out of time, you lose. Games of blitz chess are fast-paced. Chess is
not just for people. Computers have been playing chess since the 1970s. At first they
did not play well. They made mistakes. As time went on they grew stronger. In 1997,
a computer beat the best player in the world for the first time. It was a computer
called Deep Blue. Deep Blue was big. It took up a whole room. By 2006 a cell phone
could beat the best players in the world. Chess sure has come a long way. Don't you
think so?

i. What is the author's purpose in writing the second paragraph?
(a) To explain the rules of chess (b) To compare different types of games
(c) To talk about game pieces (d) To persuade people to play chess

ii. How long have people been playing chess?
(a) Over 100 years (b) Over 500 years
(c) Over 1000 years (d) Over 5000 years

iii. Which best describes the main idea in the fourth paragraph?
(a) This paragraph argues that players should think less.
(b) This paragraph explains how blitz chess is played.
(c) This paragraph explains how time clocks work.
(d) This paragraph describes many different ways to play chess.

iv. How does a game of chess end according to the text?
(a) One player takes all of the other player's pieces.
(b) One player makes it to the end of the board.
(c) One player becomes king.
(d) One player loses his or her king.

v. How is blitz chess different from regular chess?
(a) Each player has two kings.
(b) Players are blindfolded.
(c) Players only have ten minutes to play.
(d) Players start from a random position.

SECTION-B (WRITING) (25 MARKS)
4. Read the following conversation between Preeti and Mr.Sharma. Mr.Sharma
is going for some urgent work. He leaves a message for Mr.Verma. Write his

message in not more than 50 words. Put the message in a box. (4)
Preeti : Hello! Could I speak to Mr.Verma?
Mr.Sharma : Sorry, he has gone for a meeting. Can I help you?
Preeti : I am Preeti from CP-112, Pitampura. He has delivered a

Videocon LCD, but it has turned out to be defective. Please
tell him to send an engineer or call me at 011-27424897.
Mr.Sharma : Ok, I will inform him.
Preeti : Thank you.

5. You are Sanjana Singh/ Sunil Singh. Write a letter to your grandfather
thanking him for the lovely bicycle he presented to you, for your birthday,
last week. (7)

6. Given below are some details of Netaji Subhash Chandra Bose. Using these
details, write a short biography of him. (6)

SUBHASH CHANDRA BOSE

Birth : January 23, 1877




Father : Janaki Nath ----- eminent lawyer
Mother : Prabhabati --- from well-known family of Hatkhda

Early Education : English by father, Indian traditions by mother,
amalgam of western and Indian culture.

College : Presidency College for elites of Calcutta --- expelled
for organizing attack on Principal Mr.F.E.Oaten—
made derogatory remarks about Indians.

Higher Education : Left for Cambridge—civil service exam—
15th September 1919 shaped as a leader.

Returns to Motherland : 16 July, 1921 - decided not to join Government job
though 4th in civil exam.

First activity : Joined Congress — boycotted visit — Prince of Wales

7. Write an article on: ‘Encourage reading habit among children.’ (120 words)
Take hints from the points given below. (8)

- not having reading habit- the exposure to technology

- different kinds of books available

- gain knowledge of life- improves IQ level- helps in mental and emotional
development

- schools should organize reading competitions- parents should take their
children to book fairs

SECTION-C (GRAMMAR) (20 MARKS )
8. Write the correct form of the word given in the brackets to complete

the passage. (Y=2x8=4)
A boy (a) _____ (is) drowning in a river and he (b) ____ (shout) for help. A man
passing (c) ____ (jump) into the river and (d)___ (save) his life. As the man

(e) ____ (leaving), the boy (f) ___ (call) him. The man (g) ______ (ask) him the
reason. The boy (h) _____ (reply) that he wanted to thank him.

9. Complete the passage with appropriate words. (2x8=4)
a) ____ colourful festival of Holi is celebrated on Phagun Poornima which comes
either in February b) March. Holi was related to c) legend of
Hiranyakashyap, who wanted everyone to worship him, d) his son,
Prahlad became e€) ardent devotee of Lord Narayana. Livid with anger,
Hiranyakashyap ordered his sister Holika to enter into f) holy Fire g) _____
Prahlad in her lap. Prahlad was saved by God h) Holika was burnt to ashes.

10. There is an error in each line in the following paragraph against which a
blank space is given. Underline the error and write your correction from the
given options in the space provided (72x8=4)

Peter loves to go to restaurants who serve spicy e.g. that
food. He likes tacos with chillies which set his mouth  a)
on fire. Indian curry whose is hot and spicy makes him b)

smile. He must have a stomach who is very strong. C)

Peter is a person whom never gets sick from d)

food. Peter always tags along with anyone that goes e)

to eat pizza. He does not worry about whom money f)

is spent. Last week he bought some peppers who g)

burnt our tongues. We loved the smell who came h)

out from the microwave oven.

a. i) whom ii) that iii) whose iv) who
b. i) that ii) who iii) whom iv) when

C. i) which ii) whose iii) when iv) whom




d. i) whose ii) who iii) which iv) whose

)
e. i) when ii) whichever iii) who iv) whom
f. i) whose ii) whosever iii) when iv) that
g. i) whom ii) which iii) whose iv) when
h. i) whose ii) when iii) whom iv) that

11. Read the following conversation and complete the sentences in reported

speech by choosing the correct option. (1x4=4)
Rashmi : I have invited four friends for dinner.
Renu : I will also call my friends.
Rashmi : What should we serve them for dinner?
Renu : We can serve them Chinese food.

a) Rashmi told Renu that
(i) she has been invited by four friends for dinner.
(ii) she will have invited four friends for dinner.
(iii) she had invited four friends for dinner.
(iv) she will have invited four friends to dinner.

b) Then Renu said
(i) that she may invite her friends also.
(ii) that she would also invite her friends.
(iii) that she might have invited her friends.
(iv) that she must invite her friends also.

c) Then Rashmi asked
(i) what they should serve them for dinner.
(ii) that what they should serve them for dinner.
(iii) that should they serve for dinner.
(iv) that what they should have for dinner.

d) Renu replied that
(i) we can serve Chinese food.
(ii) they could serve them Chinese food.
(iii) that we could also serve Chinese food.
(iv) that why not serve Chinese food.

12. Rearrange the following group of words or phrases to get meaningful
sentences. (1x4=4)

1. our personality/not only/but also/shoes/add to/protect our feet.

2. their beauty/and sometimes/we walk/shoes/even flaunt/with our

3. wear them /we/on tough roads/our feet/to ease.

4. but we/ care of/ them/ put little/ to take/ effort

SECTION D (LITERATURE) (25 MARKS )
13. Read the extracts and answer the questions. Question A and B should be
answered by choosing the right option. (3x3=9)

A. “ She took a tiny scrap of dough
And rolled it and rolled it flat;
She baked as thin as a wafer
But she couldn’t part with that.”

(i) The lady took a tiny scrap of dough as she:
(a) did not want to bake cake. (b) did not want to make a wafer.
(c) did not have enough dough. (d) did not want to give a cake to the Saint.



(ii) What is the figure of speech used in the third line of the stanza?
(a) metaphor (b) alliteration (c) simile (d) personification

(iii) Why was she baking a cake as thin as a wafer?
(a) she was poor (b) she was selfish (c) she was weak (d) she was old

B. “Don’t bother to chew,” said the voice, “it’s a race against time.”

(i) Whose voice is being mentioned in the above line?
a) the narrator’s friend’s b) the policeman’s
c) the narrator’s d) the policeman’s colleague’s

(ii) What did the speaker not have to ‘chew’?
a) the pips of the oranges b) the peel of the oranges
c) the orange pulp d) all the options mentioned

(iii Why was it a race against time for the speaker?
a) Because he had to get back to work.
b) Because Pongo would return with his mate soon.
c) Because he had to eat seventeen oranges.
d) Because he had to eat seventeen oranges before Pongo returned.

C. “He is too big for you. You will never get there,” said his mother in a whisper of
despair.
(a) Whose mother said the above line?
(b) Who was too big and for whom?
(c) What did the mother mean when she said ‘get there’?

14. Answer any 4 of the following questions. (2x 4 =8)

i) Who was offered the first sapphire by the Happy Prince and why?

ii) Why did the narrator think that there was a connection between the crimes and
the money he found in the jacket?

iii) How did Clem Jones succeed in smuggling out the Dutch-cheese from the dock
gates?

iv) What are the two occasions where the flower-girls are selling flowers? Explain.

v) Why did Sher Singh decide to take his brother Kunwar to the hospital by himself?

15. Imagine that you were the owner of the Bewitched Jacket. Write a diary
entry in about 100 words, expressing your feelings on having lost
everything in the end. (8)

OR
The old lady of ¢ A Legend of the Northland,” was cursed by St.Peter.
Write a character sketch of the old lady justifying St. Peter’s actions.
(100 words)
XXXXXKXKKK
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L Fill in the blanks: 2%,
1. The character is used for concatenation of strings.

2. The identifies the data series.

3. A is a set of commands written by the uses to be executed
later.

4. The default extension of a Visual Basic form is

S. is a collection of files that will make up an application.

II. Write T for true statement & F for the false one: 2Y2

1. If you have typed a formula in a cell you see the formula in the formula bar when
the cell is selected ( )

2. A chart is a pictorial representation of Data ( )

3. Malware does not harm your computer ( )

4. An Antivirus program should run in the background at all times ( )

5. The declaration of a variable starts with the keyboard Dimensions (Dim) ( )

6. Event driven programming is sequential ( )

III. Name the Icon for the following: 2%
EL' 2 =
- ¥
IV. Choose the correct option: 2
1. When you type a formula, you always start by typing the sign.

a / b. A c. = d. +

2. Which of the following are the signs of a virus attack?

a. The computer runs slower than normal c¢. The computer restarts on its own
b

. There is a change in file size d. All of the above

3. To run an application in VB



a. Click F5 b. Click start button on the toolbar

c. Click Debug — Start debugging d. All of the above

4. The programming code is attached with the

a. Label b. Button c.Box d. All of these

5. Program viruses infect files that have the extension

a. com b. .exe C. .Sys d. All of these

V. Define the following: 5
1. Antivirus Software

2. Autosum

3. Event

4. Functions

S. 3 types of Computer Viruses

VI. Solve: 2Y2

Design the form & write the VB code to find the Square & Cube of given number.

VII. Answer the following Questions: 2X5=10




1. Write the steps to find the LCM of three numbers.

2. What is a Sparkline? How is it different from a Chart?

3. Define a Computer Virus? How can it harm your computer?

VII. Answer the following Questions: 2X5=10
1. Write the steps to find the LCM of three numbers.

2. What is a Sparkline? How is it different from a Chart?

3. Define a Computer Virus? How can it harm your computer?

4. What are the four steps in developing an application?




5. What are the three types of cell referencing? Define any 2?

VIII. Complete the Crossword: 2Y>
Down:
1. Mail advertisement carrying 2
Viruses & worm in Internet.
2. The tab that displays when you| :
Insert a chart in Excel
Across

1. An area of computer’s Memory
2. Addition of two strings

3. An excel feature in editing group of
Commands.
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I.CHOOSE THE CORRECT ANSWER {15x1=15)

1. Aclinical thermometer is graduated from 34¢ to 42°c because

It should not be used to measure the temperature of other objects
Marking is made on the available space.
The temperature of a human body varies only within this range.

20 T o

Mer_cury cannot expand beyond this range.

2, Convection is not possible in solids because
a. All solids are polished.
b. All solids are bad conductors of heat
c¢. Molecules are tightly packed in solids.
d. Convection can take place only in vacuum.

3. The colour which you prefer to give for the outer wall of your house to keep

you cool is

a. Black c.Red
b. White ‘ d.Green

4. When you stand in front of a plane mirror, the image seen is
a. Virtual and inverted c. Real and inverted.
b. Virtual and erect d. Virtual and diminished.

5. The lens that can be used to start a fire is
a. Concave lens c.Convex lens
b. Contact lens d.Camera lens

6. In the process of obtaining silk fibre from the silk worm, at which stage are
the worms not allowed to grow further
a. When the egg is hatched and forms lava
b. After the pupa grows into a butterfly
c. When the pupa forms a cocoon
d. When the larva grows very large in size to form a pupa
7. Silk worms are mainly reared on

a. Mulberry leaves c.Mango leaves
b. Apple leaves d.Banyan leaves
8. The number of atoms in NaOH is
a. 2 b.3 c.4 d. 1

9. Cations are
a. Electro negative c.Stable
b. Electro positive d.Neutral



10. When cotton is burnt it smells like burning paper where aswhen you burn
silk it smells like burning hair. The reason is, ’
a. Cotton is made up of cellulose and silk is made up of protéin
b. Silk is made up of cellulose and cotton is made up of protein.
c. Silk does not burn where as cotton burns.
d. Processing of silk is different from cotton.
11. Insectivorous plants grow well in soil which is deficient in
a. Nitrogen c. Oxygen
b. Phosphorous d. Carbon
12. Which of these is not a true statement?
a. Humans breathe through their lungs
b. Fishbreathe through their gills
c. Grass hoppers breathe through their trachea
d. Hydra breathes through their stomata
13. The air you breathe in contains 21% of
a. Carbondioxide c. Oxygen
b. Nitrogen d.Water vapour.

14.Where do you find nocturnal animals?

a. Deserts c.Tropical rain forests
b. Arctic regions d. Oceans

15. Precipitation is

. Solid or liquid form of water that falls from the atmosphere
b. Rainfall that falls from the étmusphere ‘
High temperature that exists in the atmosphere

d. The mist that is present in the atmosphere

o

2]

Il GIVE SHORT ANSWERS FOR THE FOLLOWING: (1)(3:3)
16 .You cannot see the candle flame,when youview through a bent tube. Explain.

17. The atom of an element has 6 neutrons and 6 electrons. Find th_e atomic

number and the mass number.
18. How does' the blubber help the polar bear?
SECTION—B (2x3=6)
IIl. ANSWER IN DETAIL.
19. A man comes to India from Australia. When he arrives, the temperature is
37°c. Express the temperature at the time of his arrival in farenheit.
20. Differentiate between atoms and molecules.

21. Complete the following equaftion and identify the process;-

Carbondioxide + ----=----=------eux sunligthlucose +




e

SECTION—C (12x3 =36
IV. DO AS DIRECTED;- -

22.With the help of an activity and a diagram prove that liquids expand on
heating.

23. Give reasons for the following;
a. It is good to have ventilators in houses at the top of the walls.
b. The planets venus and mercury are much warmer than the other planets.
c. The handles of cooking vessels are made of wood.

24. One object at 45°C is touching another object.lt is observed that there is no
net flow of heat inbetween them. What will be the temperature of the
second object? Justify your answer.

25. What is the disc shown in the picture? Expain the fact proved from the disc.

26.Write the molecular formula for the following compounds by using criss-cross
method

(a)Zinc chloride  (b)Ammonium hydroxide (c)Sodium oxide

27. Draw the atomic structure of calcium.and mention the following
(Ca-Z=20,A=40)

(a)No. of protons (b)No. of electrons (c)No. of neutrons

28.Burning of-a candle can be given as an example for both physical and chemica!
changes .Justify your answer.

29.1dentify and write the monovalent anions from the following group of ions
[Bromide,Ferrous,Ammonium,ChIoride,Hydro'xide,F!ouride,Oxiquicarbonate,
nitrate,iodide,sulphate)

30.Differentiate between aerobic and anaerobic respiration.

31.List out the adaptations that you see in the camel which helps it to survive in

desert region. ‘ e
32. Who is Meteorologist ? Explain the person’s role

33.What is a parasite? Differentiate between total and partial parasite.



SECTION-D 5x6=30

34.With the help of diagrams how will you locate the principal focus and focal

length in concave and convex lens.

35.With the help of an activity and a neat labelled diagram ,prove that heat
conductim‘ty of different metals are different.

36.(a)Briefly explain the different steps involved in the process of taking the fleece

from the sheep

(b)Do you think the ban implemented by the government on the sale of fur

clothes is justified.
37.(a) Write the equation for the following reaction and balance it.

Magnesium +0xygen Magnesium oxide

e __._,) S v&z_m L
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38.(a)Explain the functioning of stomata with a neat labelled diagram.

(b)”Without photosynthesis ,no food will be available on the earth” .Explain the
given statement. '

39(a).Draw a neat diagram of the human respiratory system and label the

following

*The Home shaped sheet 6f the muscle.
*The exchange of gases take place here.
*The common passage of food and _air.
*The smaller tubes inside t'he lungs

(b)Write the two steps involved in the mechanism of breathing.
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